Best model for HELP J161055.663+550553.905 at z = 0.855 x2=1.86
OPTx?=1.74 IRx?=2.88 threshold (OPT IR)=14.84 [um]

Flux [m])y]

102 _ : Stellar attenuated
E S Stellar unattenuated
g m —— Dust emission
1 o —— AGN emission
10 i = Model spectrum
] i e Model fluxes
o] M oObserved fluxes
10°
10—1 4
:'-u’f\.“""w'r"
1072 4"
1073 5
407 5
= E
Z 1
© 1 =f= (Obs-Mod)/Obs
=} 1 L
S
n
] o e - —— N - —— —— - - e ——————————————— -
—_
g ]
5 ]
o =1+ ————— CIGAL
()
[a'd

10° 10! 107 103 10 A
Observed wavelength [um]



